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Hh—Fa—r B/EF BREF A B HIA
JOsR 4.5% 17.8% = AX30H[H (%ﬂ?ﬂﬁa‘l) #91,463H $92,926M
0H =] 0H
L1 4.5% 18.0% H=A365HH (R SR ($EFI B RIR) (FR A B.HAR)
FAII 3.0% 18.0% RA30H (mﬂ(gamﬂ) 1,479 #92,958M
SMBCEE vk 3.0% 18.0% AL #91,479M #92,958M #14,438M
ek STOE-= P Y=Y oM
Fal 3.0% 18.0% HA308R/ (A 28 mE) #91,479M #42,958M
0H x| 0H
EHERI—F h—Fo—> 1.5% 15.0% RA37 AR (T B3R (4FI B 3R) (A B HRE)
ERBTRA—N—A—> 1.9% 14.5% HKA308M[ (%ﬂ?ﬁﬁﬂ) #1,1918 #92,3830
ORIX MONEY 2.9% 17.8% RA37 A/ (#ﬂ?ﬂﬁaﬁ) (#ﬂ[nga) (#ﬂ?ﬂﬁﬁ)
=HERBITH—FA— 4.0% 14.5% AL #91,191M #92,383M #43,575M
#3 (ZBITHh—FA—> 2.0% 14.0% WRAZL #91,150M #92,301H #43,452M
=B UFIRITH—EO—> Roo199 1.8% 14.6% WAL #91,200M #92,400M #43,600M
PayPayfR{Th—FO—> 1.59% 18.0% HA308R/M (#%IR%H ) 91,4790 #92,958M
1FA B fTh—FA—> 3.8% 13.8% BRAGL #91,134M #92,268M #43,402M
FVvHR YL Tyk VIPA—UH—F 1.7% 17.8% WRAZL #91,463M #92,926M #14,389M
IV Th—Fa—> 12.0% 15.0% BRAAL #91,232M #92,465M #13,698M
AU RBITA—FO—> 1.7% 17.8% #AL #91,463M #92,926 /M #94,389M
JCBH—FBE— FAITH 4.4% 12.5% BRAAL #91,027M #92,054H #93,082M
au PAY Rv—fO—> 2.9% 18.0% WAL #91,479M #92,958M #34,438M
auL RABTHh—FE—rLRAn—> 1.48% 17.5% BRAL #91,438M #92,876M #34,315M
YZ&BITH—FA—> 3.5% 13.5% AL #91,109M #92,219M #43,328M
HWERITH—FO—> 1.5% 14.6% WRAZL #91,200M #92,400M #43,600M
BIRIBIT VOFAIMYID—FO—> 4.4% 14.6% BRAAL #91,200M #32,400M #33,600M
L(FFAI—FO—> Y4990 —<FFIRVZ> 1.4% 14.8% #AL #91,216M #92,432M #93,649M
RIV—F/—F1R 4.5% 18.0% SX148R #1789M #92,268M #93,747M
/—a—Y 4.9% 18.0% R=X1ERM #9945M #92,178M #93,410M
J.Score 0.8% 15.0% WAL #491,232M #92,465M #43,698M
47 17.9507% 19.9436% WAL #91,639M #93,278M #14,917M
FO— 15.0% 19.94% WAL #91,638M #93,277M #14,916M
£hSIL 4.8% 18.0% = A30HM (#%I?g,ﬁ-ﬂ i) 91,479 #92,958H
247k— 7.3% 18.0% WRAGZL #91,479M #92,958M #34,438M
248 14.959% 17.950% RA30B R (#ﬁlﬁgﬁﬂ ) #11,475M #92,950M
oyl T — 12.6% 20.0% WRAGZL #91,643M #93,287H #34,931M




